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Sa’=136 km2

M0’=1.7 1019 N m

�b’=5.1 MPa

S’=36km 20km

��a’=20 25 MPa

M0 S2 ←

Sa=101 km2

M0=9.3 1018 N m

S=27km 20km

��a=20 25 MPa

k

k2

k

20% ,2006
k=S’/S =1.33

Mw6.7 ← LogMo 1.5Mw 16.1 (1977) → Mw6.6
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Sa’=136 km2

M0’=1.7 1019 N m

A’= 2.3 1019 N m/s2

S’=36km 20km

��a’=20 25 MPa

M0 S2 ←

Sa=101 km2

M0=9.3 1018 N m

S=27km 20km

��a=20 25 MPa

k

k2

k

A=4�(Sa/�)0.5��a�2 (2002)

k=S’/S =1.33

A= 1.8 1019 N m/s2



A’/A 2.3 1019 / 1.8 1019 1.28

(Mo’/Mo)1/3 (1.7 1019 / 9.3 1018)1/3 1.22

A’/A (Mo’/Mo)1/3

A’ ��a’



A[dyne cm/s2]=2.46 1017 (M0[dyne cm])1/3

(2001)




